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RGN-K / RGC-K JG
kW(HP)
1200 min ™ 1800 min ™ 2200 min !
kw HP kw HP kw HP min?
RGN 130K / RGC 130K 1.11 - 2.05 951 1275 | 1426 | 1912 | 1743 | 2336 | 2200
RGN 140K / RGC 140K 1.19 - 1.94 1245 | 1669 | 1867 | 2503 | 2282 | 3059 | 2200
RGN 160K / RGC 160K 121 - 1.91 1639 | 2197 | 2459 | 3296 | 3005 | 4028 | 2200
RGN 180K / RGC 180K 1.44 - 2.06 2184 | 2928 | 3277 | 4393 | 4005 | 5369 [ 2200
RGN 200K / RGC 200K 1.08 - 1.72 3569 | 4784 | 5353 | 7176 | 6542 | 8770 [ 2000
900 min * 1200 min * 1800 min *
RGN 220K / RGC 220K 1.14 - 1.82 3569 | 4784 | 4758 | 6378 | 7137 | 9567 [ 1800
RGN 250K / RGC 250K 1.23 - 1.56 5176 | 6938 | 6901 | 9251 1300
RGN 280K / RGC 280K 1.38 - 1.74 6908 | 9260 | 9210 | 12346 | --- 1200
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mm mm mm mm mm kg
RGN 130K / RGC 130K 800 490 430 300 300 650
RGN 140K / RGC 140K 900 550 475 310 380 860
RGN 160K / RGC 160K 900 625 525 335 430 1080
RGN 180K / RGC 180K 900 670 550 395 405 1420
RGN 200K / RGC 200K 1170 750 600 410 460 2000
RGN 220K / RGC 220K 1250 850 650 490 500 2680
RGN 250K / RGC 250K 1300 850 650 530 500 3390
RGN 280K / RGC 280K 1400 850 700 650 600 4740
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